Kansas Corporation Commission Oil & Gas Conservation Division

ORIGINAL

October 2008
Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 31191	MA	API No. 15 - 007-23398-00-00	_
Name: R&B Oil & Gas, Inc.		Spot Description:	_
Address 1: 904 North Logan		SE_SW_SESec. 19 Twp. 32 S. R. 10 East / We	st
Address 2: P.O. Box 195			on
City: Attica State: KS Zi	p: <u>67009</u> + <u>0195</u>		
Contact Person: Randy Newberry		Footages Calculated from Nearest Outside Section Corner:	
Phone: (620) 254-7251		□NE □NW XSE □SW	
CONTRACTOR: License # 5929		County: Barber County, Kansas	
Name: Duke Drilling Co., Inc.		Lease Name: Hrencher "A" Well #: 1	
Wellsite Geologist; Tim Pierce		Field Name: McGuire-Goemann	
Purchaser:		Producing Formation: Mississippi	_
Designate Type of Completion:		Elevation: Ground: 1555' Kelly Bushing: 1563'	
X New Well Re-Entry	Workover	Total Depth: 4720' Plug Back Total Depth:	
X Oil SWD SIOW		Amount of Surface Pipe Set and Cemented at: 220 Fe	
X Gas ENHR SIGW		Multiple Stage Cementing Collar Used? Yes No	
CM (Coal Bed Methane) Temp. Ab	od.	If yes, show depth set:Fe	et
Dry Other		If Alternate II completion, cement circulated from:	
	Expl., Cathodic, etc.)	•	mt. i
If Workover/Re-entry: Old Well Info as follows:	·	feet depth to:w/sx cr	Izdo
Operator:		Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)	•
Well Name:		,	
Original Comp. Date: Original To	·		bls
Deepening Re-perf Conv. to		Dewatering method used: Hauled Off	
Plug Back: Plug	•	Location of fluid disposal if hauled offsite:	
	·····	Operator Name: Jody Oil & Gas Corp.	_
•		Lease Name: Sanders 3A License No.: 3288	
,	6-1-09	Quarter SW Sec. 20 Twp. 31 S. R. 8 East We	
Spud Date or Date Reached TD Recompletion Date	Completion Date or Recompletion Date	County: Harper Docket No.: D-23, 313	
Kansas 67202, within 120 days of the spud date of side two of this form will be held confidential	e, recompletion, workover or o for a period of 12 months if re wireline logs and geologist w	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information equested in writing and submitted with the form (see rule 82-3-107 for confidencell report shall be attached with this form. ALL CEMENTING TICKETS MUST form with all temporarily abandoned wells.	-
All requirements of the statutes, rules and regulat are complete and correct to the best of my knowle		the oil and gas industry have been fully complied with and the statements here	ein
Signature: Kandy / leve	щ	KCC Office Use ONLY	
Title: President	Date: 6-17-09	N/	
inth		Letter of Confidentiality Received	}
	day of June	If Denied, Yes Date:	
20 09		Wireline Log Received	
Notary Public: Jane Lungla	***	Geologist Report Received RECEIVI	Įν
Jake Swingle Date Commission Expires: 1-6-2011	JAN	E SWINGLE JUN 1 8	2009
Date definition Expired.	Notary Pul	blic - State of Kansas	
	My Appt. E	xp. <u>1-6-2011</u> KCC WICI	ATIH

Side Two

Operator Name: R&B Oil & Gas, Inc.			Leas	e Name: _	Hrencher "A"		Well #: 1			
Sec. 19 Twp. 32 S. R. 10 East 🗸 West				er County, Ka	ansas		·			
INSTRUCTIONS: Sh time tool open and clo recovery, and flow rat surveyed. Attach fina	osed, flowing and shut es if gas to surface te	-in press st, along	ures, whether s	hut-in pre	essure rea	ched static level	, hydrostatic press	sures, bottom	hole temperatu	re. fluid
Drill Stem Tests Taker (Attach Additional		⊠ Y	′es □ No		ΧL	og Formatio	on (Top), Depth an	d Datum	☐ Samp	le
Samples Sent to Geological Survey				Name			·		atum	
Cores Taken Electric Log Run (Submit Copy)				Mississippi 4410 (-2939			39)			
List All E. Logs Run: Dual Induction Dual Compensated Porosity Bond Log										
		Repo	CASING ort all strings set-			ew Used ermediate, product	ion, etc.			
Purpose of String	Size Hole Drilled		ze Casing t (In O.D.)		eight s. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Po	
Surface	12-1/4"	8-5/8"		23#		220'	60/40 Poz	160	3%cc 2%ge	el le
Production	7-7/8"	5-1/2"		14#		4713'	60/40 & Class H	25 & 150		
Purpose:	Depth					JEEZE RECORD				
Perforate Protect Casing Plug Back TD	Top Bottom	Type of Cement #Sacks		(S Used	Type and Percent Additives					
Plug Off Zone										
Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth						epth				
2 4458 - 4496				2000 gal 15% MCA Acid						
Frac: 1351 sxs 30/70										
Sand - 240 sxs 16/30 sand										
115 sxs S					Sandtro	l Super	LC LC			
16/30 sand										
TUBING RECORD: Size: Set At: Packer At: Liner Run: 2 7/8" 4512										
Date of First, Resumed Production, SWD or Enhr. 6-6-09 Producing Method: Flowing Pumping Gas Lift Other (Explain)										
Estimated Production Per 24 Hours	оіі в 16	Bbls. Gas Mcf Water Bbls. Gas-Oil 15 220 1-1		as-Oil Ratio	Gra 40°	vity				
DISDOSITIO	ON OF GAS:			IETHOD O	E COMDI E	TION		DDODUCTY	ON INTERVAL.	
DISPOSITION OF GAS: METHOD OF COMPLETION: PRODUCTION INTERVAL: PRODUCTION INTERVAL: PRODUCTION INTERVAL: Other (Specify) Other (Specify)										
(If vented, Submit ACO-18.) Uther (Specify)										

ALLIED CEMENTING CO., LLC. 32525

TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT: Medicine Lodge	
DATE 11-19-08 SEC. 19 325 RANGE 10 W	ALLED OUT ON LOCATION JOB START JOB FINISH 0400 pm 0600 pm 0830 pm 0900 pm	
LEASE Hrencher WELL# / LOCATION Sharon K. OLD OR (VEW) Circle one)	COLINTY STATE	
CONTRACTOR DUKE 2 TYPE OF JOB SURFICE	OWNER R&B Dil & GQS.	
HOLE SIZE 12/4" CASING SIZE 85/8 TUBING SIZE TUBING SIZE TUBING SIZE TUBING SIZE TUBING SIZE	CEMENT AMOUNT ORDERED 1605メ 60:40:2+3%CC	
DRILL PIPE DEPTH TOOL DEPTH PRES. MAX 300 MINIMUM 100 PSi	COMMON_ 96 A @ 15.45 1483.20	
MEAS. LINE SHOE JOINT 20' CEMENT LEFT IN CSG. 20' PER CUSTOMER REQUES	POZMIX 64 @ 8.00 512.00 F GEL 3 @ 20.80 62.40	
DISPLACEMENT 123/4 Bb/s Fresh water EQUIPMENT	CHLORIDE <u>5</u> @ <u>58.20</u> <u>291.00</u> ASC	
PUMPTRUCK CEMENTER GAL G.		
#480-486 HELPER HEGTH M. BULK TRUCK #364 DRIVER Michgel N	@ @ @	
BULK TRUCK # DRIVER	@	
REMARKS: BOE ON BOTTOM, BIEGK STUDISTION PUMP 5 RUS Fresh	MILEAGE 13 x 168 x . 10 312.00 Minchigantal 3063.80	
Atecd, fump cement, websx + Additives, Stoffump Release Plug, starp Disf, See lift, slow Rate, List with 1234 BBIS Presh water, shut in.	SERVICE DEPTH OF JOB 223	
Cement Circulated to suffice	PUMP TRUCK CHARGE / 0 / 8 . 00 EXTRA FOOTAGE @	,
	MILEAGE 13 @ 7.00 91.00 MANIFOLD @ 113.00	
CHARGE TO: R&B Oil & Egs	TOTAL 1222.00	
CITYSTATEZIP	85/8 PLUG & FLOAT EQUIPMENT	
	Whaten Plug 1@68.00 68.00	
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment		
and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	@	DECEN (F
contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)	RECEIVED JUN 1 8 200
PRINTED NAMEX JOHN J ARMBRUSTER	DISCOUNT IF PAID IN 30 DAYS	KCC WICHIT
SIGNATUREX John Jambuston	—ANY APPLICABLE TAX WILL BE CHARGED UPON INVOICING	
Thank You		

ALLIED CEMENTING CO., LLC. 32553

REMIT TO P.O. BOX 31	SERVICE POINT:
RUSSELL, KANSAS 67665	Medicine Losseki
lere laws leaves	7/- 24 CALLED OUT ON LOCATION JOB START JOB FINISH
DATE 11-28-08 19 325 RANGE 1660	SALLED OUT ON LOCATION JOB START JOB FINISH 1:00 pm 12:00 pm 1:00 pm
	COUNTY STATE
	1 ks 1/4 w 15 Barber Ks
OLD OR (Circle one) 34 E	
CONTRACTOR DUKO #2	OWNER R&B Cil & G95
TYPE OF JOB Production	
HOLE SIZE 776 T.D. 4720	CEMENT
CASING SIZE 5 1/2 DEPTH 4705	AMOUNT ORDERED 50 sy 60.40:4+.4%
TUBING SIZE DEPTH	SMS, ISOSY CIGSS 14 + 10% 591+
DRILL PIPE DEPTH	5# Kelseci ASF 500 fl.
TOOL DEPTH	_
PRES. MAX MINIMUM	COMMON 30 A @ 15,45 463,50
MEAS. LINE SHOE JOINT 42	POZMIX <u>20</u> @ <u>8.00</u> <u>/60.00</u>
CEMENT LEFT IN CSG.	GEL <u>2</u> @ 20.80 <u>41.60</u>
PERFS.	CHLORIDE@
DISPLACEMENT 114 bbls of 2% KCL weter	ASC Sodium Metasilicate 12 @ 2.45 41.65
EQUIPMENT	
,	ASF 500 gl @ 1.27 635.00 -150 H @ 16.75 2512.50
PUMPTRUCK CEMENTER Dorin F	_150_H@16.752512.50 Salt_17@12.00204.00
# 372 HELPER Newton P.	Kol Seal 500 @ .89 445.00
BULK TRUCK	@
# 364 DRIVER Michel N	@ .
BULK TRUCK	@
# DRIVER	HANDLING 229 @ 2.40 549.60
	MILEAGE 14 x 229 x, 10 320.60
REMARKS:	TOTAL 5373.45
Pipe on bottom & brack circulation	
Pump 20 bbls of 1% KCL water, 3 bhis	SERVICE
Of fresh water, Pump Soc gel. ASF 3 bbis	
of fresh uster min 25 si cement for 154 hol	DEPTH OF JOB 47c5
Mix 255 5 of lite coment, mix 1505, of	PUMP TRUCK CHARGE 2/85.00
this Coment, Shut Lown, Wash pump & lines 1	
reless plug, S. Kr+ dspiccemen - Lift pressure sa	MILEAGE 14 @ 7.00 98.00
Plus st 114 bis 500-1000 PSI, flost hanne	MANIFOLD@
1109 94 110 30.3 300 1000 F37, 4104 83 Nai	
0.	@
CHARGE TO: Paboil LG95	
STREET	TOTAL 2396.00
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
	5 %
	1-20 her Plug @ 74.00 74.00
	1-60120 Shor @ 192.00 192.00
To Allied Cementing Co., LLC.	1-AFU Insert @293.00 293.00
•	8- Centralizers @ 57.00 456.00
You are hereby requested to rent cementing equipment	8- SURIKHUS @74.00 592.00
and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	1- Port Coller C1969.00 1969.00
done to satisfaction and supervision of owner agent or	TOTAL 3576.00
contractor. I have read and understand the "GENERAL	IOIAL COLAR
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)
i manus mans compatitoris instea off the reverse side.	
h - D	TOTAL CHARGES
PRINTED NAME X TIM VIERCE	DISCOUNT IF PAID IN 30 DAYS
· ·	

RECEIVED
JUN 1 8 2009
KCC WICHITA